
 
More Factorising

I 1 Z
Ext x 3 2 i 2

Gc 1 Cx 2

l 6
Exz 5k 6 I 6

Get 1 x 6 2 3
2 1 3

2 11 1 10 1 I 1 toEx 3 l lo
x 1 1 actio 2 5

Z 5

E I 52 14 ti 14

x 2 x 7
l 14
Z T
z t

Exercise Factorise

1 x 3 10 act 2 x 5

2 x 2x 16 x 1 x 6

3 of 5 4 Ge ti k etc

a of x 6 Get 3 x 2

5 3T 10 9 x 1 se g

6 x Ex 20 x 2 x lo

7 of 10 21 K 3 x 7

X



8 x2 13 30 se 3 x lo

9 22 27 50 x 2 x 1 25

10 x 17 18 x 2 x 19

l of tax 21 x 3 att

12 si 6 27 x 3 Xx 9

13 sitcom 1 5 x 1 Xx 5

id x 14 40 x 4 k lo

15 x't 18k 19 se l x 119

16 x 12 11 x 1 Xx 11

n I c 2x 3 x l x 1 3
18 X 8 7 x 1 l sett
Q si 16 28 K Z x 14

20 K2 t8x 9 x l x 9

21 af x 12 x t 3 x 4

22 I 15 14 K 1 x 14

23 K2 38 80 K 1 2 X 40

24 K2 tox 16 x 2 Xx t 8

25 R2 12 28 x 1 2 Xx 14

SolvingQuadraticEquatiT
Ex Solve 12K 28 0

x 2 x id 0

Either xx 2 0 or X 14 0

x Z x 14



F x2 Solve 22 10 16 0
SC 1 2 x 181 0

Either set 2 0 or set 8 0

x Z x 8

Homework Solve

1 I 3 4 0

2 I 8 9 0

3 x 1 Ilse to o

d x 17 18 0

5 si Gx 7 0


